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Effluent S5 (mg/L)

- 2WHBJNAY 2 F N3
- 2 RIS PAA ANT ARRAX0 LXGUSH VRRAXZ RYLE
SIE4AE SULR ABBIUL UBSKR SULE RSB 2 AHUA KA

8 ANIIZFQ 50n°/day0l SIEE = MBS 56n'/dayR HLE FUoH0f
MBS HOAUC 2 DA ASS SHFME Al BFS 17.06, LE=

Efﬁ

EotelH s 34

ACI (poly—-aluminum chloride Al
Al/P molar ratioZ 2.0,

ZESIACH. SEH =L

3.0, 4.0 % 5.001 & =8 XFoIAL.
Al/P SHIJI 32 2HEE ER | ¥ R R0Y &
242 4 mg/L, 2.3 ng/LE HHSS2 93.1%%%Ct. T-PY
£+ 5= 212} 0.466 mg/L, 0.055 mg/LZ 88.2%2 MMHEESS LIEL
- RESF &= 22 9 mg/L, 6.6 mg/LE 26.7%2 HMHESEZ,
T-No Re4+% FE4 sS= 242 8.212 mg/L, 4.992 mg/L= 39.2%2 XH=
2 AEZTAHO AI/P 2HIJt 32 2XE F2 WA MotM A

o 8§ H T-P2 SHSEE E4E = YUEs ALZE MAHUL

OSL’
fo

ol
2
2.
1o
Lo
b

sS T-P

50 . —— 100 05 100
w " et -

40 - SssHAHHE 4 80 E” = 04 " - T.PHAES 80 T
o = &
3 g’ 3
o

30 - 80 -3 ~ g
B p
o = ®
= e 3

20 440 B [ 3
) ) ot
3 2 g

J = w &
10 20 3 }:
0 0

Influent 21 31 a1 51 © infvent 21 31 41 51

Al/P molar ratio (-) Al/P Molar ratio (-)



2 WHUMA 22, 84X 2 2SS 50n°/day #22 $EHSAALS SS9
T-P2l K= sSHSI 22 15.0~122.9 mg/L(BZ 41.16mg/L), 0.323
~6.900 mg/L(ZZ 1.272 mg/L)E =ZBS0| 2A UEIRC. d2U4 =23

2+ 2+

g |

NMABE gl 8% T-PE RE=SS s&k=
0.029~0.121mg/L(E & 0.082 mg/L)2 HIWH

2t2+ 1,3~6.9mg/L(EZ 2.5 mg/L),
QHEFCZ LIEHCE.

70 16
J e} TRESSEE T 14 - RYUTPEE
S =—fEsssk = =95 TPEL
E gl E
c c
2 wf =
& g
- 5
O (5]
§ 2f 5
(&) o
2 1w} &
0 =
Time (day) Time (day)
o AHAEHEI
- 2 AMA BIHIME 2SR 22 2,200 m®0ll CHaH 2F 729 MES A2 ol
Yole 330E/LQ XMHAEHE 2= T HFFAAEN S AIAR 23 Al &
A2t E = FEo%. dHE8s 2ESE ot 2 UHUHAM JfEs =
AHGAIAEN 28t LESE HH Al 22K £ SH HHES MAESIY
Ct, 2&$X=s 40 2F 2UE JIZCZ 40O H nbtx 24 o A
SdAl AN S80I 2HL-E 22 R0 2. 5% SF6U0CH
X g YT M4 02| Me|
Qo = 53 m¥/d Q, = 51.675 m¥/d Q, = 50.38 m¥/d
TPo= 0.466 mg/L TP;= 0.193 mg/L TP, = 0.055 mg/L
= 24698 g/d = 9973 g/d = 2771 g/d
——— >
SSo= 33.4 mg/L $S,= 22.1 mg/L 55,= 2.3 mg/L
= 1.770 kg/d = 1.142 kg/d = 0.116 kg/d
s ey EEEES
Qu = 1.325 m3/d '« QZI = 1292 mg/d
S ReE Hs 3 oMHS
Q; = 2.617 m¥/d
TP,= 21.927 g/d
SS,= 1.654 kg/d
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